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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udtemeff aduem v U997 U WX AR A ErE: o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) | U w A E |

All the questions are compulsory.
3) UcA® U T S & ME ST-Yieaent # g forad |

Write the answer to each question in the given answer-book only.
4) = ggat # arraftes @ug g, 37 @ & I U 91y g o |

For questions having more than one part the answers to those parts are to
be written together in continuity.
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5) U9 UA & Eeal 9 SN ST | Tohet TR sl e / 3wt / fomieny e g W B
WTST & U9 1 HE HH |
If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated valid.

6) TUg T3 HWEAT 3 Tk T
H 1-13 1
q 14 - 24 2
q 25 - 27 3
K 28 - 30 4
Section Q. Nos. Marks per
question
A 1-.13 1
B 14 - 24 2
C 25 - 27 3
D 28 - 30 4

7) oA WAk 14, 27, 28,29 @ 30 # araten faemew gl
Question Nos. 14, 27, 28, 29 and 30 have internal choices.
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@ us - A
SECTION - A

1) crETSEa h aftwre e | [1]
Define apomixis.

2) TAERTUA gt w6 am forlead) [1]
Write the name-of 'gonadotropin-hormone:

3) g seafada Redt e 27 [1]
What is point Mutation?

4) 219 wmEEE & Tw Afaied gfd 311 I/ oo wAEEHE TR w1 am aaed |[1]
Name the chromosomal disorder which is caused by the presence of an additional
copy of the chromosome number 21.

5) wHa fawE & wu # fora e fY femnft et 650-800 H et & s oft ? 1]
The brain capacities of which man were between 650-800 cc in course of human
evolution?
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6) ‘‘vesnfian fEEEfefeeRt’’ ATHER WG R ScU= T T ATH FdqTsd | [1]
Name the disease caused by the Protozoan 'Entamoeba histolytica'.

7) g gferen T wgdrdt g e s it @ & fore 99 9=t ufereft #ig § iR 6 fou
HTd 37 [1]
When ready-made antibodies are directly given to protect the body then the
immunity is called?

8) Ia: U hi URHTET TATSH | [1]
Define inbreeding.

9) vouw Ufdae USIfFeaasl <Al ATH FaTsy | [1]
Name the first Restriction'Endonuclease.

10) wfasA-ufreft i R < fagra @ amenfia udiegror w1 7w aqaEa| [1]
Name the test which is based on the principle of the Antigen-Antibody interaction.

11) sTaaTeREt St gfumn s [1]
Define Biopiracy.
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12) AR T HIE Tk TUEE FaT3d | [1]

Write any one illeffect of deforestation.

13) =gt 91 = gs| frEt o AW FarEa| [1]

Write name of any two green house gases.

Qs ~ o

SECTION - B

14) et wroft = fofertt amoft # oTat Fote od g0 e ol Ueh—Ueh 3qTevur foeitar |
[1+V2+Y2=2]

STeraT
TR T TRl Thga 2?7 STeifiTeR ST hi af fafert & s ferRRea=n

Write the difference between unisexual and bisexual animal. Give one example
of each.

OR

Define Asexual reproduction. Give name of two methods of asexual reproduction.
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15) U1 % STARTUUT o UTATA ATQ STUX ST THHIUT T ZraT § a1 HUT URALT WX U+ arel IHTat
EAR:LE R [2]
What will be effect on embryonic development if Placenta does not formed after
implantation explain.

16) == T W foRel hgd 27 39 WshUUN W Yad @ o fore fora et &Y ureran et
MR ? [1+1=2]
What is sexually transmitted disease? What principles should be followed to free
from these infections?

17) 2vucie T 9 Gheei@H Wajch ehl Yaal Farsd| ETAT i ATAEH THS o i WEN 6
am foRaa ? [1+1=2]
Write polarity of template strand ‘and coding strand. Write three regions of
transcription unit of DNA.

18) <= <ht Ieutr o Araser ® fieR & T= 619U i) [2]
Describe the Miller's experiment related to origin of life.

19) Tawa Py & foru @i o1 gu aga € tavask g @ T |iEd aweed | 2]
Mother's milk is considered very essential for the newborn infant explain with
reason.
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20) 3t fafre deur @i 3T T aueEd | [2]

Explain the Interspecific hybridization with example.

21) eMETIRa: FUTaia Tl & g g1 o Faqrsd | [1+1=2]

Write any two uses of Genetically modified plants.

22) THe O i THTTE i T IR A TshHI-hi T0TS | [4 x V2 =2]

Explain four basic processes which affect the population density.

23) wEWITaT & HEIUhINAT ehi SSTET0T dehd TR | [1+1=2]

Explain Commensalism and Mutualism with example.

24) o fafawan & afa & foheal gt SR &1 Tuee Hike ? [1+1=2]

Explain any two reasons which causes the losses of biodiversity.
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Qg - 9

SECTION - C

25) TRETOT <1 URHTT FATSH | IRIUIETOT § AETUIRTUT <hi 3ETEX0T geht awetrsa | [1+1+1=3]

Define pollination. Explain wind and water pollination with example.

26) uma #® ferr feivor 6 ufshan @ Wartes g/t wwsmsa | [2+1=3]

Explain sex determination in humans with line-diagram.

27) ufdae UATEH & YR TeRa | “darges a #td DNA &t Teh & Ufaseq usitsn gri e
W E YA €hean o) 1 fAmter wue @7 swen wweed | [1+2=3]

AT

gt DNA w1 afisrifim i | famdta DNA @t oot sforamre # s s &t
forest 31 Fafersit =1 TrwaTE

Write the types of restriction enzyme. "Synthesis of recombinant DNA molecule

is possible only when the vector and source DNA is cut by the same restriction
enzyme" explain reason.

OR

Define recombinant DNA. Explain any two methods of introducing alien DNA
into host cell.
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SECTION - D

28) i) orgerEA (grafwom) Rt e 87

ii) Th-3NUTH HT FEAT T HE hl GHE |

i) i favma W Amifes o ST

AT

DG CRCTE TACL LB

i) oTETE He S =R v fafkau|

iii) t—3TRUAU-31JeheTeh STU] SRl ATHIfhd o TS |

1)  What is transcription?

i1)) Describe the structure and function of Lac operon.

1i1) Draw a labelled diagram of replicating fork.

OR

1)  What is genetic code?

i1)  Write four salient features of genetic code.

111) Draw a labelled diagram of t-RNA-the adapter molecule.
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29) i) Yfesifae @l URHTNG S|

i) <ok T AW foTRE™ St Tfaei= Scu=r &t 21
iii) wfosAfoeht & gRT Su=ATREA ToRegt &1 T o W feRea|
iv) Shamopeeh 1 Aithd o amE|
[1+1+1+1=4]
areran
i) Tervae forll wem 27
ii) e o7 & 3R Scargd § fhE FeHsTa a1 SUART TehaT ST 2|
iii) So3ateh o ®Y U SUANT H AW aTet §f Sam] o T feiRad |
iv) YTElUs® SR I3 1 AHIhd o aq1sd |

i)  Define antibiotic.
i1) Name the fungus which produce Penicillin.
ii1)) Name the two disease which are treated by antibiotics.
iv) Draw a labelled diagram of bacteriophage.
OR
1)  What is fermentor?
i1))  Which microbes is used for commercial production of lactic acid.
ii1) Name two bacteria which are used as biofertilizer.

iv) Draw a labelled diagram of typical biogas plant.
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30) i) urhax @t ufwva i)
ii) urfas & fafe= gewt = dfera & Twzme)
iii) uTREATae a | UN0T TR 1 IREE HEgur gursa |
[1+2+1=4]
AT
i) onufies ScareT =T E?
ii) uTiEs & St Jarg i aHEsd|
iii) Tafe= oroor T ® & AT AT Tt & YATg N ARG FEuor gorsd|
1)  Define ecosystem.
ii) Describe different.components of ecosystem in brief.
ii1) Give a diagrammatic representation of trophic levels in-an ecosystem.
OR
1)  What is primary production?
i1) Explain energy flow in ecosystem.
ii1)) Give a diagrammatic representation of energy flow through different trophic
levels.
> > >
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